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KNN

ss.fit_transform(X_train)
knc.predict(X _test)

data, target, test _size=0.7
ss.transform(X _train)
classification_report(y_test,y predict
data, target, test_size=0.3
knc.predict(X_train)

knc.fit(X_train, y train)
report(y_test,y predict

kne.fit(X_test, y_test)

6 l.py

y_predict

30%



setosa 1. 00 1. 00
versicolor 0. 84 1. 00
virginica 1.00 0,79
accuracy
macro avg 0. 985 0.93
weighted avg 0. 94 0,93

o

o oo

precision recall fl-score  support

00 15
.91 16
88 14
93 45
L93 45
93 45

#

from sklearn.datasets import load _iris

from sklearn.model selection import train_test split
from sklearn.preprocessing import StandardScaler
from sklearn.neighbors import KNeighborsClassifier

from sklearn.metrics import classification_report #

# load_iris
iris = load_iris()
data = iris.data

target = iris.target

#3 30%

X train, X test,y train, y test = train_test split( (1)

, random state=g)

#
ss = StandardScaler()
X train = 2) #3

X _test = ss.transform(X _test)

# K
knc = KNeighborsClassifier()

I ) #3
y_predict = (4) #3
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#

report = (%) ,starget names=iris.target names)

print(report)

#3

[a—

data, target, test _size=0.3
2 ss.fit_transform(X train)
3 knc.fit(X_train, y_train)
4 knc.predict(X _test)

5 classification report(y_test,y predict

1

2

3 KNN

4 KNN

5

1

2

3 KNN KNN
4 KNN KNN
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JRE
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[1]
.2012
[2]
.2013
[3] . Java
i
int i=10;
i
A
B.i
Ci
D.i
A

<terminated> TC1 [Java Application] C\Pr
FRATORERANETE: -
activity and assurance

lﬁ?ﬁ% REFE Nl BEEE3!

Java
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. Java

. Java
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public class TC1 {

N =

~

public static void main(String[] args) {

String txt = "progress is the activity of today and the assurance of tomorrow";

System.out.print("

java.util.Scanner sc=new java.util.Scanner( 1) );

String testLetter=sc.nextLine();

char letter=testLetter.charAt(0);

/ txt

String[] words = txt. (2) ™"

int count=0;

for(int i=0;i< 3) ;i) {
if(words[i].charAt(0)== letter) {

System.out.print(words[i]+" ");

N C 3 I

}

System.out.println();

System.out.println("

System.in
split

words.length

[ count++] [++count] [ count=count+1] [ count+=1]

for

"+testLetter+"

"+ count +"

n).
>

45



46

"C:\ ” GC3.java 4

| &) MNEFEERE : GC3.class EI@
| 32FF

NN

IR BEN -

import java.awt.*;
import java.applet.*;
public class GC3 extends Applet {
int r=(int)(50+50*random()); // random()->Math.random
Color colors={Color.BLUE,Color.BLACK,Color.RED,Color. ORANGE,
Color.GREEN}; // Color  colors-> Color colors[]  Color[] colors
public void paint(Graphics ) { // paint(Graphics )-> paint(Graphics g )
int idx=0;
int x=20;
int y=10;
int s=(int)(r*0.9);



E S N S

for(int i=0;1<3;i++){
g.setColor(colors[idx]);
g fillOval(x+i*s, 10, r,r); // g.fillOval-> g.drawOval
idx++;
}
for(int i=0;1<2;i++){
g.setColor(colors[idx]);
g.drawOval(x+i*s+1/2, y+(int)(r*0.75), r,1);

1dx++;

Math.random

Color colors[]  Color[] colors
Graphics g

g.drawOval

2D

"C:\ ” BC3.java
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import java.awt.*;
import java.awt.event.*;

import java.applet.*;

public class BC3 extends Applet implements ActionListener {

Label ja = new Label("

Label jb = new Label("

25

/

")
")




TextField t1 = new TextField(5);

Button b1 = new Button(" "):
Button b2 = new Button(" "):
Label jc = new Label(" ")/

Panel p1 = new Panel();
Panel p2 = new Panel();
Panel p3 = new Panel();
Panel p4 = new Panel();
public void init() {
setLayout(new GridLayout(4, 1));//
pl.add(ja);
p2.add(jb);
p2.add(tl);
p3.add(bl);
p3.add(b2);
p4.add(jc);
add(pl);
add(p2);
add(p3);
add(p4);
bl.addActionListener(this);
b2.addActionListener(this);
}
// ActionListener actionPerformed()

public void actionPerformed(ActionEvent e) {

//
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public void actionPerformed(ActionEvent e) {
String ticketnum=t1.getText();
if(e.getSource()==b1) {

try {

int num=Integer.parselnt(ticketnum);

if(num<0) {

je.setText("

telse {
je.setText(" "+num+"
H
}catch(Exception ex) {
je.setText(" ");
H
telse {

tl.setText("");

je.setText("™);

2 try catch finally
3 if

"+”

"+num*25+"

")
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#include

#define

#define ()

#ifdef #else #Hendif

+-* ) %+ -

<<= >>= = |I=




(int)

sizeof()

printf, scanf

if, switch

for, while, do-while

return, break, continue
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void

gets, puts, strlen, strcpy, strcat,

stremp

malloc, free

struct

union

54




cnum

typedef

FILE *

fopen, fclose

fprintf, fscanf, fgetc, fputc,

fgets, fputs
fread, fwrite
feof, fseek, ftell, rewind
ferror
M N

getchar, putchar

sqrt, sin, cos, fabs, pow, exp, log

srand, rand

exit, system
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() Windows 10

Guide 1.0

Visual Studio 2012

48 64

A.char id[17];
B. char id[18];
C.char 1id[19];
D. long id;

n min

4

#include <stdio.h>

18

getBirth

max

14

id

Visual C++ CodeBlocks 17.0

20
.2017
.2010
17 18
C
113 yyyymmdd”
birth
p isIn
0



struct birth
{n
intyear; //

int month; //

int day; /
IR
void getBirth(struct birth *p, char id[])
{/ id p id[6] id[13]

p->year = (id[6]-'0')*1000 + (id[7]-'0")*100 +
(id[8]-0")*10 + (id[9]-'0"*1;

p->month = (id[10]-'0')*10 + (id[11]-'0");

p->day = (id[12]-0")*10 + (id[13]-'0");

}
int isIn(int n, int min, int max)
{/ n [min,max]
if ( @) ) 1
return 1;
else
return 2) ; // 2
}
int main(void)
{
char 1d[80];
S ) - o3
Gets(id);
getBirth( (4) ); /! 4

printf("%d  %d %d 7, b.year, b.month, b.day);
if (isIn(b.month, 1,12) && isIn(b.day,1,31))

printf(” \n");
else

printf(” \n");
return 0;



60

/1 11010519491231002X
1 123456789012345678

1 n>=min && n<=max

0

E NS B Y

&b,id

struct birth b

18

1

//

18

1

/1

1949

7890

1

2

12

18

31
34

[0 580k 9 £ 5 5 5y [53010219200508011X

T S e

PATE G IEXA BHIEL

{7 E i

10

11

12

13

14

15

16

ST a

0

0

5

0

8

0

1

/%:2/’}& Wi

10

9

10

5

8

i

(1)sR Al

2(wi*a))=(5*7)+H3%9)+(0*10)+(1*5)+(0*8)+(2*4)+(1*2)+(9*1)+(2*6)+(0*3)+(0*7)+(5*9)+(0*10)
+(8%5)+(0*8)+(1*4)+(1*2)=189
(2)2K4: X(wi*a)%11=189%11=2

(3) MR A LA LA -

REL 0|1]/2|3]4|5|6|7|8]|9]10
SRS |1 lo|x|9|8|7|6|5]4]3)|2

ARAL 2 RN RASZ X, PRI 2 S RS A2 IR A

17



17

“ /*_*/” " //_”
#include <stdio.h>

int main(void)

{
char 1d[80];
int w[]=1{7,9,10,5,8,4,2,1,6,3,7,9,10,5,8,4,2}; //
char last[]="10X98765432"; // 0 10
int ik, sum=1; /) 1 0
gets(id);
for (i=0;i<18;i++) I @ 18 17
sum += id[i]*w[i]; //_®id[i] (d[i]-'0")
k=sum % 11;
if (id[17]==last[k])
printf(” \n");
else
printf(” \n");
return 0;
}
1 11010519491231002X
// 123456789012345678
1 0
2 17

3 (id[i]-0")

F-NEE VSN 8



62

VS N\

for

18
17
18

| person - id=xE

“ person.txt” 100

iR wEE) BU(0) EE(N) EEIH)

h1010519491231002x
440524198001010013
310115200101010114
53010219200508011x
110105198912150036
110203199310100047
310115201001010010

zhangli
wangxiao
zhaolin
gianli

lilin

lilin

sunli



ik izt HEFE R

11010519491231002x  zhangli 1949F12H31H
440524198001010013  wangxiao 19801 H1H
310115200101010114  zhaolin oFE0HOH
53010219200508011x  gianli 1920F5H8H
110105198912150036 lilin 1989F12H 15H
110203199310100047 lilin 1993&F10H160H
310115201001010010  sunli 20101 H1H
1 4 int idChkBase(char
id[]);
2 3 int idChkLast(char
id[]);
3 2

int chkBirth(struct birth *p); // 1

1900 2099

4 person

struct person

{

char id[20];

char name[20];

struct birthb;

IR
5 “ person.txt” ps
int read(struct person ps[]);//

6 getBirth ps

1dChkBase idChkLast chkBirth
0

int chkAll(struct person ps[], int n);//n

63
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AW

int prtAll(struct person ps[], int n);//n
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C C# Java Python Visual Basic.NET

VB.NET
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VB.NET

VB.NET

VB.NET

VB.NET

If Select

Do-Loop

For

Continue

Exit

End With

Preserve
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VB.NET

Line

Circle Pset

Point

PictureBox

Image
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ADO.Net

ADO.NET

ADO.NET

Connection

Command

DataReader

DataAdapter

DataSet

Adapter

DataSet

Command

try - catch

try - finally

try - catch - finally

throw
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o Visual Studio 2012 Visual BASIC.NET Microsoft Office

2016 Access
6. 64 72 32
7.
[1] . Visual Basic.NET 3 . . 2020
(2] . Visual Basic.NET 3 . .2020
jpg
png Filter
A. Picture|* jpg
B.JPG file(*.jpg)|lPNG file(*.png)
C.JPG file|*jpg/PNG file|*.png
D. *jpg|*.png
C
Filter
r=1+ 23
T t 0
n 0<n<50
710 4 7 10 44 10

44
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Imports System.Math
Private Sub Buttonl Click(...) Handles Button1.Click

Dim t, n, sum, a() As Integer

n = Val(TextBox1.Text)

Label2. Text=""

(1) a(n+ 1)

Ifn>0 (2) n <50 Then

Fort=1Ton
a(t)y=1-+2 * Exp( 3) )

Next
sum =0
Fort=1Ton

sum = sum + (4)

Label2.Text&=" " &t&” Y & sum & 7

Next
Else

Label2.Text =" ”
End If

End Sub

” + vbCrLf
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1 ReDim ReDim Preserve
And

03*(t-5) (t—5)*0.3
a(t)

E VS

4 VB.Net

Tt

_1+1+1x2+1x2x3+1x2x3x4+ N 1x2x ..xn
T 7 7373x5 3x5x7 3x5x7x9 3x5x..x(2n+1)

o
2
n ” 3 ” 4

Private Sub Button2 Click(...) Handles Button2.Click

Dim n%, 1%, sum#, num1#, num2#

sum =0 'EEEQ) > 1.0
numl =1

num2 =1

n = Val(TextBox4.value) ' ***yalue-> Text
Fori=1Ton

numl = numl +1 "FEEpyml +1->numl *1



num2 =num2 * (2 *i+ 1)
sum += numl / num2
Next
TextBox5.Text = “sum * 2”

End Sub

Text

numl * i

AWM

sum*2

AW N

7C:\ \ B

Forml

C:\KS "VBNETB.sln”
3 Forml

.€X€

”

”

VEEE “qum * 27 > sum * 2

”

”

”
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C C# Java Python Visual Basic.NET

C#

Net
C#

VS.Net
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C#

C#.NET

C#.NET

C#.NET
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C#.NET

if  switch

for

while

do - while

continue

break
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FileStream

GDI+

Graphice Pen Brush Font

Graphice

Draw

Brush

ADO.Net

ADO.NET

Connection

Command

DataReader

DataAdapter

DataSet

Adapter

DataSet

Command
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try - catch

try - finally

try - catch - finally

throw

/ /
10 15
2 20
4 45

79



70
3 4
21 22 150
150
150
[ ]
() Windows 10
o Visual Studio 2012 Visual C# Microsoft Office 2016
Access
48 64 20
[1] . . Visual C# . .2012
ipg png Filter

A. Picture|*.jpg



http://search.dangdang.com/?key2=%E5%8F%B6%E5%85%83%E5%8D%AF&medium=01&category_path=01.00.00.00.00.00

B.JPG file(*.jpg)|PNG file(*.png)
C.JPG file|*jpg/PNG file|*.png

D. *.jpg|*.png
C
Filter
Myloin()
listBox 1 “ 7 textBox|1 “»

o Form? B

TN i

I

lilke

C# _
Progtamming .
ey JE:E_>
well

T like C# programming
very well.

private void buttonl_Click(object sender, EventArgs ¢)
{
string[] arr = new string[listBox1.Items.Count];
int 1;
string s1;

e

textBox1.Text =

>

Sl — ////;

for (i = 0; i <listBox1.Items.Count; i++)

{
arr[i]= (1) .ToString();
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MylJoin( (2) );
textBox1.Text = s1;
}
void MylJoin(ref string s,string[] a)
{

for(i=1;i< (4) ;i)

” ”

s+=""+a[i];

s
M

s +=

1 listBox1.Items[i]
2 refsl,arr

3 a[0]

4 alength

4 for

4  for

EXE”
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1 oskeskoskoskoskoskoskoskokokok

T
m_ 1, 1x2 1x2x3 1x2x3x4 . 1x2X.Xn
27 7 7373x5 3x5x7 3x5x7x9 3x5x.x(2n+1)
n ” 3// 4
iEistph a3

TI({E: 3. 14159832603T06

(S

| it

private void button2_Click(object sender, EventArgs e)
{
int n,i;

double sum,num1,num?2,tmp;

sum=0; /I **¥* 0 ->1.0
n=int.Parse(textBox4); /] *¥*%*  textBox4 ->textBox4.Text
numl=1;

num2=1;

for(i=1;i<=n;it+)

{
numl=num]l-+i; ] FEE £ >k
num2=num2*(2*i+1);

tmp=numl/num2;
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sum+=tmp;
}

textBox5.Text = “sum*2”; /] #%% “sum*2” >(sum*2).ToString()

1 1.0

2 textBox4.Text

3 %k

4 (sum*2).ToString()

E- NS B Y

Forml

” ” ” ”

C:\KS "CSNETB.sln”
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C C# Java Python Visual Basic.NET

Python
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Python Python
/ /
Python
Python
if
if-elif-else
while
for range()
break continue

try except
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Python

% format()
f-string

enumerate()

index

count

&9



e

map() reduce() filter() sorted()

Python
setup.py whl exe
Python import  from
random math calendar time
jieba worldcloud openpyxl Pillow matplotlib
Web SQLite

execute() fetchone() fetchmany() fetchall()

scroll()

close()
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JSON

Web Web APl RESTful
FastAPI Django Flask Tornado
Web
tkinter
GUI
tkinter Canvas turtle  matplotlib
1 / /
2
10 15
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92

3 30
3 30
Python
5 75
21 150
150
150
Windows 10
Python 3.x 3.7 Anaconda Pycharm
VS Code PyScripter Wing IDE Spyder  Notepad++

json numpy pandas

matplotlib jieba wordcloud openpyxl

FastAPI+uvicorn Django Flask Tornado Web

Navicat for SQLite

64 72
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[1] . Python

A. dict= {}

B. dict= {4:6}

C. dict = {(4,5,6):'dictionary'}

D. dict = {[4,5,6]:'dictionary'}
D

AW ON

1~2 1~3

i G A ¢ R Ry

abclZ23
abcl23: B .

50 A M (R IR

Abcl23
Abhcl23: iR P,

S A MU (R IR )

Abcl2345
Lbhcl2345: R .

i e A S Y (A Ry

>33 |

def judge(passwd):

.2020
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94

1

if n>=8:
result+=1
for i in range(n):
if '0'<=passwd[i]<='9":
result+=1
break
for i in range(n):
if 'A'<=passwd[i]<='Z".
result+=1
break
for i in range(n):
if 'a'<=passwd[i]<='z".
result+=1
break

return result

while True:
st=input(” (
if st=="
@
s=judge( (3) )
it @)
print(” %os: A\n”%st)
elif s==3:
print(”%s: \n”%st)
else:

print(” %os: A\n”%st)

len(passwd)

):\n")



2 break
3 st

4 s<=2 s=—=0ors=—=lors==2 s<3

break continue

A W O ND =

if

A W O =

HHHEHHE

}ﬁﬁi}kl”giiﬁjﬁ”ﬂEE%ﬁ: T

iz
123
1234
12345
123456
1234567
123456
12345
1234
123

1z

1

535 |

line=input(” 1~9 "y
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n=int(line)
ifn>10:
for m in range(1,n+1):
for i in range(1,m+1):
pchr="1'
print(pchr,end=")
print()
for m in range(n-1,0):
for 1 in range(1,m+1):
pchr=str(i)

print(pchr,end=")

print()
else:
print(” 9 )
1 <
2 str(i)

3 range(n-1,0,-1)

3 for range()

/covid19moudi.txt” 2020 1 22

96
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| covid19mouditt - iZEE - O X
MR &EE(E) BIU0) EJN) EEIH)

|[EBE, & B2 JET AT A
1/22/2020,FH48,1,0,0

1/23/2020,F4#,5,0,0

1/24/2020,F1#,9,0,0

1/25/2020,F#,18,0,1

1/26/2020,FH#,33,0,1

1/27/2020,F18,47,0,1

1/28/2020,FH8,70,0,1

1/29/2020,FH1#,99,0,1

1/30/2020 54,129,0,1 y
C:\KS 4 1.py
| & Python 3.8.2 Shell — O ¥
File Edit Shell Debug Options Window Help
EEEDIE ArBAEMER s ERESH, EaEE R ol :
Ln: 6 Col: 4

f=open('c:/ /covid19moudi.txt','r")
s=f.read()
shlist=list(s.split("\n"))
sh=[]
for i in shlist:
sh.append(list(i.split(',")))
max=0
for n in range(2,len(sh)-1):
if (int(sh[n][4])-int(sh[n-1][4]))>=max:
max=int(sh[n][4])-int(sh[n-1][4])

97



mdate=sh[n][0]
print('%s  %s  %s %d  '%(mdate[-4:],
mdate[0:1],mdate[2:4],max))

wn A W

wn A W N
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ISO-OSI

TCP/IP
ISO-OSI TCP/IP
TCP/IP
MAC
PPP
IP 1P
CIDR
IPv6
1P
RIP
ARP Internet
ICMP

IP
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UDP

TCP
TCP
DNS
TELNET
HTTP
FTP
POP3 SMTP IMAP
VLAN
Web

P2P
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SNMP MIB

VPN
Web
HTML CSS
Web
Windows
Tomcat JDK
HTML+CSS+IJSP Web
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25 50
5 10
5 5
1 15
Windows
4 40
Web 2 20 Web
1 10
45~50 150
150
150
o
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o Windows 10

® JDK Tomcat
° Web Dreamweaver
° JDK JSP
® Tomcat Web
6. 48 64
7.
[1] . . .2018
[2] . 8 . .2021
CIDR 1P 202.196.10.205/26
A. 202.196.10.0 205
B. 202.196.10.128 13
C. 202.196.10.192 13
D. 202.196.10.192 205
C
CIDR
CIDR 1P
CIDR
A.
C. CSMA/CD D. CSMA/CD
ABC
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DNS

1

IP

2 Domain Name

201.36.14.0 —-,‘E;
1

201.36.14.3

R4

DNS

R4

194.27.18.5

R

194.27.18.0

132.11.0.7 132.11.0.101 132.17.0.1

RIP

132.17.0.3

132.11.0.0 132.11.0.5 1 1
132.17.0.0 1 2 1

3 202.101.15.7 2 1
194.27.18.0 202.101.15.1 2 4
201.36.14.0 5 1 2
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E VS

132.17.0.3

3
202.101.15.0
2

132.11.0.7

IS
WEB 2020NET-C
1P

C:\KS

IE

RIP

WEB 1P

1800

hello.html

1P



Web

Windows 1N Web FTP

Web

C:\ \SNES.exe 4 PC

VLAN VLAN 2 PC VLAN PC
1
2 1P
3 PC TP
4 VLAN
5

1P
VLAN
Web
2021test.html -3 C:\KS

1 5 1

[ @ hres//10.101110 1710000/ 202 zex e P = C || @ 2021100t E’E@

o AT
R BEARKT-H R
BEERATFER
1

Web
1 cal.jsp 2 3
1 B A " 1 n " 1
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n "10" 50" "100"

sum.jsp

- EAEIngELE

HEAEnFERN
HEAENE S

2 cal.jsp 1

) | httpi//localhost:3080/cal jsp

EETEIA

3 cal.jsp 2

sum.jsp 4

1} localhost:8080/ sum jsp *® —|—
< C (D localhost:8080/sum.jsp

SKEIERE: 5050

4 n 100 1 n
HTML CSS HTML+CSS+JSP Web
1 5 testc.docx
Internet 1P 202.211.112.1/30
1 IP 192.168.10.0/24 DNS

WWw



www RS &
192.168.10.80

DNSAR S 2%

192.168.10.53

—
Foso ey FO1
S
1
1 EIA/TIA 568A
testc.docx
: 1= .
= s
] L] -
12345 678
E & B & = =
Fg a8 B 5 = % = g
2
1 2 4
5 6 8
2 WWW www.sh.com.cn
DNS 1P
testc.docx
1P
-5
EHlde:
PHiE:
n
e
3 DNS
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DNS

4
4"Internet

5

Web www.sh.com.cn

" DNS " " DNS

testc.docx

Internet HMUAESE 4 (TCP/IPvY) Bt

TR e
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o FERTER IF #i G-
IF Hht @

FheED W
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BENEE s ARSI @)
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4 "Internet 4 "

R1 Internet
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SQL

SQL

SQL

SQL

SQL

SQL

DDL DML DCL

DDL

DDL

DDL

SQL

DCL

DCL

Select

Select
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Insert

Insert

Update

Update

SQL

Delete
T-SQL
SQL

T-SQL
DML

DDL

SQL Server
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3 20
5 6 30
5 6 30 SQL
5 6 20
48 51 150
1. 150
2. 150
3.
4.
5.
(]
() Windows 10
] MySQL 5.7 SQL Server 2005 MS Access 2010
() ASPNet C#Net VB.NET Python3 ASP.Net
C#Net VB.NET Visual Studio 2010
L Word Visio Office 2010
6. 48 64 20
7.
[1] . . .2018
4 2 1
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1
2
Access SQL Server MySQL
1 C:\KS Answer
MySQL
1
2
3
4 Regions Products
Customers Sales
1
2
SQL
SQL
E =& it
PID PName  Pice Categury RID | |1 [FEEE | GFH 298 ERE HERE

1 [101 | mAeEE 206 dm 01 2 FEEM R 48 | |1 | TERETE 15
2 103 G 298 sum o4 | |2 TEEH teE w2 | |2 == I

4 e JERFER 206 3 +5E 5

3 4 5
1 3

select * from products where category="' '

select

1 select

2
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VB.NET C# ASP.NET

Answer
1 C:\KS\SalesProject 6
BHES
ERE [ HAE - RERIEEEE
Gt RS
HhEEEHR
6
2
3 ” ”
4 7 ” ” ”
Regions ” ”
5 ” ”
1
2
3
4
5

122



B R B AR R R
— SRR A R
kKA (2022 4ERR)

o

123



Adobe Audition
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Photoshop

Photoshop

Illustrator

Flash
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Action Script

Flash

3ds Max

3DS

Premiere

PREMIERE

PREMIERE

PREMIERE

PREMIERE

PREMIERE

PREMIERE

PREMIERE

PREMIERE

PREMIERE

AFTER EFFECTS

After Effects
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Unity 3D

Unity 3D Unity 3D
Unity 3D
Snaglt
Camtasia Studio
Director
DIRECTOR Director
Director
DIRECTOR
Director
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150

50

100

10

15

10

15

10

10

10

30

20

20

Unity3D
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LOGO

20
36 39 150
L. 150
2. 150
3.
4.
5.
[
L Windows 10
6.
® Adobe cs cc Audition PhotoShop Illustrator Flash

Premiere Pro  After Effects
® Autodesk 3ds Max 2010
® Adobe Director 11
® Unity 3D 2017
7. 48

.2012

[2]
.2013
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A.AAAEEEEECCCBBBB

B.DDTTTTTTGGRHAAA
C.WWQQQQAAAAAGBBB
D.AAPPPPPPGGCCCCD
A
5G
A.
B.
C.
D.
A
5G
5G
Premiere Pro CS4
A.
B.
C.
D.
ABC
PREMIERE

PREMIERE

4G

Premiere
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A. B. C. D.
E. MPEG-1 F. MPEG-2 G. MPEG-3 H. MPEG-4
I. MPEG-7 J. MPEG-10 K. MPEG-20 L. MPEG-21
M. N. 0. P
Q. BMP R. JPEG S PNG T. TIF
MPEG
” 1 ” 2
MPEG-1 MPEG-2 MP3 N ) B
Flash CS4 (4)
(5)
1 B 2 H 3 E 4 M 5 S
Photoshop CS4 "C:\ \Photoshop
A2ipe” ”
”C:\KS\PhotoshopA2.jpg”
1 PA04.jpg PAOS.png PA04.jpg PAOS
2 PAOG6.png PAO4.jpg PAO6 ””  PA06
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3 PAO7.png PA04.jpg ” ”
4 ” ” 72 ” ” ”
5
6 PAOS.jpg "Al” 50%
Adobe Photoshop
Photoshop
10
1 /5
1987 ICT
2019 8
18.8 170 30 2019 8 9
HarmonyOS OS
920 ARM CPU
5 310910 Al TaiShan
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EulerOS Linux

EulerOS
GaussDB DB
EulerOS
Lo
2.
920 H  310/910 FEulerOS
GaussDB Al 7C:\ \ 7
” ﬁ‘ ” 1 2
1
2 100 / 800 X 600
3 920 - 310/910 EulerOS GaussDB Al
4 “C:\KS\ A.jpg”
5 100 ”C:\KS\ A.txt”

S HEFERRCPULSARE S

RZFA
@ @ General A%l | Advanced APls | Pra-intsgrated Soluticns I
ModelArts ( AFEEN—SEEFETS)
H ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ o
£ WITES | S BIRFEGEIE - EE m
MindSpore (AisiRESHER) -
iE 2 e CANN (i S H SRR NLE)
ﬁ wEE, BOWE GaussDB (EHURFF) (Compute Architecture for Neural Networks)
IXHIOS (4EF) —
BRNSCPU ( SMTRE) AIETH (AR ) ARt
g ha + IDC ( BRS337R5F ) & Wit
" 2 HUAWEI
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CSV txt Excel

K-Means

K-means
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24
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5 10
2 16
4 5 52
7 10
48
30 34 150
1. 150
2. 150
3.
4.
5.
[ J
® Windows 10
® Python
® Anaconda 3.5.1 Python 3
6. 48
7.
[1] Python
. 2021
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140

250g
5 20
1 5%20
2
3 240g
(fill_1.py)
import numpy as np

#

np.set_printoptions ( precision=2, suppress=True )

# 5*20

apple = np. 1) (250,10, size = (5,20))

print ("”1.\n””, apple)

#

Print(””2. \n””, apple.( () ))
4 240g

Print(””3. 240g \n"”, 3) .sum() )

1  random.normal

2 sum(axis =1) sum(axis = 0)
3 (apple<240)

1

2

3

10g



animals.csv

animals.csv

Mammal

bird

others

DataFrame
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5 60
5 60
40 150
1 150
2 150
3
4
5
[ ]
o Windows 10
[ Jdk 1.8 Eclipse+tADT+Android SDK  Android Studio
Python 3.7
PyScripter Pycharm Wingide Spyder IDE MySQL 5.5
Navicat SQLyog
6 48 64 20
7
[1] . . .2021




C o w »

PyCharm C:\ \IOTExamDemoServerPythonSide

config.txt  Start.py

10TExamDemoServerPythonSide
veny
Demo
= config.be
= Start.py
Include
Lib
Scripts
= pyvenv.cfg
|l External Libraries

Scratches and Consoles

1 IOTExamDemoServerPythonSide
1P config.txt
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M configbt - T=4

THD RS5O EROQ =RV BEW
Pl

&E2: 100% Windows (CRLF) UTF-8

2 config.txt
2 ip get ip() config.txt IP dataFromSource
JSON getData()

1 - 10067

3 clientComm() config.txt

getFromClient()
4 5 7

user— { password : 'pwdl’, ‘username’: ’'userl’} log in successfully, reply:l.

A get thread is created for user— { password : ’pwdl’, ’username : ’userl’}

= ||||||||
~ _||9—,,”l||
'userl'}

"GO0 Hlﬂﬂ"'"14“
: III“I4|:”:III = ”41“_; L

0600 ,u 0200" :"ed44" ,"07 HH 0
suser-- 4 pa”v.or‘d': 'p'v.'dl ; u;ernam

C:\ \IOTProject\Server\Server.exe
App IP config.txt 10067

log_in failed,
s log in from:




LN

F VS I )

PyCharm

Android Studio C:\ \IOTExamDemoClientAndroidSide

I0TExamDemoClientAndroidSide [IOTExamDemeo-Client-AndroidSii
idea
metadata
app
libs
src
androidTest
main
java
com.exampleiotexamdemao_client_androidside
€ LoginActivity
£ MySocket
£ SensorActivity
€ UserBean
res
drawable
drawable-v24
layout
s activity_laginaxm|
5, activity_mainaml
=, activity_sensor.xml
mipmap-anydpi-v26
mipmap-hdpi
mipmap-mdpi
mipmap-xhdpi
mipmap-xxhdpi
mipmap-xoschdpi
values
e AndroidManifest.xml
test

8 IOTExamDemoClientAndroidSide
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1 activity login.xml 9

a2
9
2 P

. ” ”

. ” ”

. IP /IIP ”

. ” ”

. ” ”

L activity sensor

3 activity_sensor 10

® "1001” 01

® "1002” 02

® "2001” 01

® "4002” 01
RE PmM2.5
34 78
+32 -85
E SE
88 9113
+68 915
25 3
13 -76
HER co2
432 1835
+128 =22
B#4701 B#4702
Z=igo1 E01

10 activity_sensor
4 C:\ \config.txt P P userl
pwdl C:\ \IOTProject\Server\Server.exe
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C:\

\Demo.exe App userl pwdl IP
10067

'} is log in from: ('192.168.0.12°',

log in failed, re
is log in from: ("1

T
pwdl

11
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A*

Alpha-Beta
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Logistic

Boosting

K-Means

Q-learning

CNN

CNN

LeNet ResNet

RNN

RNN

LSTM

Adam
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(1]

Windows 10
Python 3.7
32

.pdf.

Part of Speech Tag

ABCD

. https://www.cs.sjtu.edu.cn/~linghe .kong/
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160

A. random.choice() B. getAge()
C. range() D. getSex()
E. random.randint() F. write()

20

def getSex():
return @8] « %"

def getAge():

return str(random.randint(18,100))

def main(filename):

with open(filename, 'w', encoding="utf-8") as fp:

#
fp.write('Sex,Age\n")
1
# 20
for 1 in range(20):
sex = (2)
age = 3)
line =", join([sex,age])+'\n'

fp.write(line)

)
w g >




Sklearn

import xIrd

import matplotlib.pyplot as plt

import numpy as np

from sklearn import model selection

from sklearn.linear model import LogisticRegression

from sklearn import metrics

data = xIrd.open_workbook(sandianshuju.xIsx")

sheet = data.sheet by index(0)

Density = sheet.col_values(6)

Sugar = sheet.col_values(7)

Res = sheet.col values(8)

#

X = np.array( [Density, Sugar] )

#y 17)

y = np.array(Res)

X = X.reshape(17,2)

#

f1 = plt.figure(1)

plt.title('watermelon_3a')

plt.xlabel('density")

plt.ylabel('ratio_sugar')

# (x y )
plt.scatter(X[y == 0,0], X[y == 0,1], marker = '0', color = 'k', s=100, label = 'bad")
plt.scatter(X[y == 1,0], X[y == 1,1], marker ='0', color ="g', s=100, label = 'good")
plt.legend( 1) )

plt.show( )
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#

X train, X test, y train, y test = model selection.train test split(X, vy, test size=0.5,
random_state=0)

#

log_model = LogisticRegression( )

#

log_model.fit( X train, X_test)

# y

y_pred = log_model.predict( (2) )

#

print(metrics.confusion_matrix(y_test, y_pred))
print(metrics.classification_report(y_test, y_pred))

1 loc="upperright 2 X test

Logistic
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Instance | No. of Wings | Broken Wings | Living Status | Wing Area/Weight Fly
1 2 0 alive 2.5 T
2 2 1 alive 2.5 F
3 2 2 alive 2.6 F
4 2 0 dead 3.0 F
5 2 0 dead 32 F
6 0 0 alive 0 F
7 1 0 alive 0 F
8 2 0 alive 34 T
9 2 0 alive 2.0 F

1
2
1
No.-of-Wings
2 | 0
Broken-Wings No No
2 1 0
No No status

2 Fly=(no.-of-wings=2) /\ (broken-wings=0) /\(status=alive) /\(area/weight=2.5)

alive

\dcad

Area/weight

No

22/

\<2.5
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// GetArgs returns the arguments intended for the chaincode Init and Invoke

// as an array of byte arrays.

GetArgs() [][]byte

// GetStringArgs returns the arguments intended for the chaincode Init and
// Invoke as a string array. Only use GetStringArgs if the client passes
// arguments intended to be used as strings.

GetStringArgs() []string

// GetFunctionAndParameters returns the first argument as the function

// name and the rest of the arguments as parameters in a string array.

// Only use GetFunctionAndParameters if the client passes arguments intended
// to be used as strings.

GetFunctionAndParameters() (string, []string)

// GetState returns the value of the specified "key" from the

// ledger. Note that GetState doesn't read data from the writeset, which
// doesn't

// consider data modified by PutState that has not been committed.

// If the key does not exist in the state database, (nil, nil) is returned.

GetState(key string) ([]byte, error)

// PutState puts the specified 'key' and “value into the transaction's

// writeset as a data-write proposal. PutState doesn't effect the ledger

// until the transaction is validated and successfully committed.

// Simple keys must not be an empty string and must not start with a

// mull character (0x00) in order to avoid range query collisions with

// composite keys, which internally get prefixed with 0x00 as composite
// key namespace. In addition, if using CouchDB, keys can only contain
// valid UTF-8 strings and cannot begin with an underscore (" _").

PutState(key string, value []byte) error


https://godoc.org/builtin#string
https://godoc.org/builtin#byte
https://godoc.org/builtin#error
https://godoc.org/builtin#string
https://godoc.org/builtin#byte
https://godoc.org/builtin#error

// DelState records the specified ‘key" to be deleted in the writeset of
// the transaction proposal. The ‘key" and its value will be deleted from
// the ledger when the transaction is validated and successfully committed.

DelState(key string) error

type MyContract struct {

}

/7

func 1 (stub shim.ChaincodeStublInterface) peer.Response {

/>l<

1 */
args = 2
/* 2 v
if len(args) !=2 {
return shim.Error("Incorrect arguments. Expecting a key and a value")
H
_, err := strconv.Atoi(args[1])
if err !=nil {
return shim.Error("Expecting integer value for state")
H
/ Key/Value
err = 3
/* 3 */
if err !=nil {
return shim.Error(fmt.Sprintf("Failed to create state: %s", args[0]))

}

return shim.Success(nil)
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func (t *MyContract) get(stub shim.ChaincodeStubInterface, args [|string) peer.Response {
if len(args) =1 {
return shim.Error("Incorrect arguments. Expecting a key ")
}
key := arg[0]
valBytes, err := 4
/* 4 key &)
iferr !=nil {
return shim.Error(fmt.Sprintf("Fail to get state: %s", key))
§
if valBytes == nil {
return shim.Error(fmt.Sprintf("Nil amount: %s.", key))

}

return shim.Success(valBytes)

-

1 (t *MyContract) Init

2 stub.GetStringArgs()
3 stub.PutState(args[0], [byte(args[1]))
4 stub.GetState(key)
Hyperledge fabric +

4 AB,C.D
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